2R LR F
L F 4 W EAREE P H2 53 NAE 1 S — U T (R2)
1 i RCHE
i} 15
BT R (fh FH 25150
LHEBNF
NO T % fE 5 & il % i
1| AR L
2 | HaOKERfHE T
3 | HEAKERfE T
4 | FeshERiE T
5 AR L5
6 | THJKERAN T
7| AR T
8
9
10
11
12
13
14
15
16
17
18
19
& i ¥

st



No, 1

P o

NO 4 PR TS - =X (A i & # i &
PR i T

1 s T F
SH232BA/SH232BA/TC30
e PN 1/YH702 1 #
Ykt e LDABOBBERA/LMAG01EG I
Fes LSL870PR I
VelEkg < PWPSOONW2,/PJ2008NW 1 {&
Ak TKS05318] 1
Vel ok Ae TWLIR I
Ji Bet-bhk e T200SNR13 I
0 X3

1 © i 0

et




No, 2
PR
NO 4 P S - & OHAL i & #H i &
2 ARk LE
1) BNAR KRR L
iR R AL =V | HI-VP ¢ 20 (/) 27 m
A)=7" B A & X 10% 1 X
0 | X3
) © 3 0
n) EAME KRR L
ATV E e =V | HI-VP ¢ 20 (1) 18 m
I HI-VP ¢ 30 () 19
BR AR AT 13mm 3 1A
/¢ 134 3w
(aREIEis GV-32A 1
5 IR
HRERF Y] Wz 37 m
T (%)
HREIY AT 13.9 m
HEL INEREET RAEL 9.3 1
HRL g 4.6
¥ 7" 17y 4L REBHO. 28 m +
2w L' 5. OkmEA FDIDIC [ 4 L 9.3/
B A F BH 0.28 1.0 1118
n D F 0
2 D & 0

et




No, 3
N J =
NO 4 i Hi & & OHL il & (3 i 5
3 HEKERE T
1) BNHEKE S TF
gL =V VP- $40 (fEFT) 3 m
/i VP- ¢ 50 (fEFT) 9
/i VP- ¢ 75 ({EFT) 12| »
) =7 Bdst X 10% 1 =X
gL =V VP- $50 (Z7%) 4 m
[RREgES 50A 4
KHEKE T5A-50 1 &
A My T VC-50 1 n
X3

) o F
n) BAMIKER I T3
AL =V VP- ¢ 75 (Hhdr) 6/ m
I VP- ¢ 100 (H#i1rp) 18 v

S-1 H=300
INABAYN =M M-LWS100-150 1 #

S-2  H=340
I M-YWS100 X 100 X 75150 1

S-3  H=380
I M-YWS100 X 100 X 75150 1

S-4  H=480
JNEAYN =it 90L-100-150 (Bhi#E) on
+THFECR
RE] Y BT 5.9 m
HEL IINEREET A+ 1.6
HEL RN 4.3 m

B 07" Ny 4t FEBHO. 28 i+

s Iy dYax #55. OkmLL FDIDX 4 L 1.6 1

et




No, 4

NO 4,

i)

%

HAL

2
&

i =

)

T2




No, 5
N §R F
NO 4 i Hi & & OHL il & (3 i 5
4 G LE
W CU-20A (BN) 14| m
AY=7" Bt A2 X 10% 1 =X
7 A R b o 16% =
0 X3
D F 0 0
=)




No, 6

>
%
i

C A BOf %k B OHA OB M & fii =
M A i T4
D BELE TH. 1
SLESANG T v ke PLP15A (B IN) 8 m
2)-7° Fufe X 10% Y
LYY 15A 1A
ta=2"2y) 9. 5A Lo
B AMAIVE 154 Lo
0 X3
) o F 0
m) Bl T 2
SESA T v ke PLP15A () 27 m
) o F 0
5 O & 2

OHeEA Ty




No, 7

R FE
NO v R Hi & B AL OB Ofh & (3 i 5
6 THAKEE TS
AR K ABC—47% 1 A
X3
6 » =

OHeEA Ty




No, 8
N &R F
NO Z4 P B B HAL i & #H i &
T SRR L
AN ATV b 100A 4 m
" 150A 20
i P A A 6.4/9.5 40 »
AL = VP-20 2 0
A =7" At & X 9% 1] =X
PrRiEALBET -2 R NERUIETS 4 m
J—hr7ay 2. 8kw =
E=CUN) 1 %E pusl 2. 8kw =
FA AL 40m3 (FE-1) 1 A
U 20m3 (FE-2) 1
A WA 300m3 (FE-4) I
RS BERUA A (0A-1) 1
N A7 7= 1004 (27vV2id) 3 A
" 1504 (A7/VAf) 1
PRI L nyy-MERIRES 50t L1 o
X3

7T D F

et




No, 8

R FE
NO v R b57A % B AL OB Ofh & #H =
8| WF LIEXRE
B R SM-AMA i 1 1218
o SM—4AMA i 1 1318
D i 0

OHeEA Ty




